1. 150 o 71 717ke 9 9] Hj4-2 £5}olgt,

5 Rog
3%



20, 45




= % 12 o] Hizpol A SA o] 15 9] wiTt B E?

O 20 @ 30 @ 40 @ 60 ® 100



o by

310
Ik

=
s T

@® 50

B

691 5 2445 A, B o] tiote] Ax B = 540 ©] A ¥

B 9] HAFMFE?

@ 60 @ 70 @ 80 ® 90

Sk

his

o},



SUEU o] 9 0|1, U A7} 3 o]gle}. of W

® 80 @ 85 ® 90



T 2oloHH o x b? ofth. o|w, a + b O] Fh2?

@ 3

® 4

@ 5

® 6



7. 600=a"xbxc 225N M, (a+b+c)x(x+y+2) 9
@2 (Fa<b<c)

@® 12 @ 24 ® 36 @ 48 ® 60



8. 4 2x3x5, 20x52 o AHFHII 2 x5 D W, 0 9 RS

atolat,

Be



St AA7Y 2ASANA At 56 7, v 84 H, = 70 HE BEF YR
FH I S}, ZF IS A FEgo] R Faz & o, o ¥
YOl AlFEA Yol & 4 AE7R

@ 15 9 @ 14 9 ® 13 9 @ 12 9 ® 1119



10. A2 9E8 e F FYHE A, B 7F th A o BUHEF S ==
36 71, B 9 FYH9 = 48 /MY o, T FYHFI 22 FY A
Ao 2 A grEe= A2 A 7 E B & SV
@® 4 v @ 54t ® 6 =
@ 744 ® 8 H



b

2FHE 259 ASAES HA

11, o 559 AhFopset
e Aoz §& 7

22x32x7, 2x3x5x%x7

P

2% 3, FAFEe 22 x32 7

P

2% 3, HAFHS  2x3 x5 T

D2Xx3x5XT,HAFS 22 x32x5%T

®© &® © © 6
by by

T}

£ H £ 5 F

T2x3xT7,HAFHS 22 x32 x5 % T

P

T2x3x7, HATHS 22 x3x5XT



Fof ol 2 b o] AFo]

S

. .

Ul Ul

2 @



13. 1ax|[  [x35 9 5o ASTt 36 Ll [ gt Eoi7
Vg e AA4E Fatole,

D R
-



14. Al 4 23x3x%x5,22x32x5, 22 x 33 x 52 9] Hofgorys=?

D 22x33x52 @ 23x32x5 @ 22x3x5

@ 22 x 32 x 52 ® 22x33x53



olJ

ol

o7
<

—

Al 4= 30, 60,80 2] 524 ol

15.

@ 5 ®7 @ 10 ® 17

® 3



16. 1 °flA] 100 71A1 9] 2 5 29 vilapIe B[4 5 9] i B= o
R g AQ1A] Fstoiet

5 J=X
=%



17.

20 x 3" x 11 0] 132 & °oF5= 71 wf, A A4 a, b, ¢ 2 25251

e Fafolt

> S
=%



18.

=2 3135 ot 2 ¢l
n=4p*q> 4 W, n o ofo| ANpE Ftodt (F, p#q 2

2%

B 4



@ 10 ® 8 @ 7 ® 6

O 12



=
e

o 217t FshAEy 1 Adt =



